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8.75 | The ﬁump shown in Fig. P8.75 delrvbrsahgad of 250 ft
to the water. Determine the power that the pump a@‘db to'the wa-
ter. The difference in elevation of the two ponds is 200 ft.
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Pipe length = 500 ft
Pipe diameter = 0.75 ft
Pipe roughness = 0
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8.75 | (con'f)

(the Colebrook equation) and
From Eq. ( 1

obtain V as follows.

V.«[g;.zo/(wzf +/z,.9)] sz which when combined with Eq.(2) gjves
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Alss, the Colebrook equation
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By combining Eqs (#)and (5) wc obtain a single eqvation involving 0/7/}/ f:
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